INSTALLATION INSTRUCTIONS

TAIL LIGHT GUARD
2003-2010 HONDAELEMENT



TAIL LIGHT GUARD
2003-2010 HONDA ELEMENT

PARTS LIST

1- TAIL LIGHT GUARD PASSENGER SIDE
1- TAIL LIGHT GUARD DRIVER SIDE

4- M5-1.0 X 30mm SCREWS

2- #6 X 2" SCREWS

2- SUPPORT BRACKETS

INSTALLING TAILLIGHT GUARD

(1) OPEN REAR HATCH TO ACCESS REAR TAIL LIGHTAENSE AND HOUSING.
REMOVE THE FACTORY SCREWS (DISCARD SCREWS) THEN CAREFULLY PULL
ON TAIL LIGHT LENSE UNTIL IT IS FREED FROM/ THE-HOUSING.

(2) POSITION APPROPRIATE TAIL LIGHT GUARD'\CVER HOUSING AND ALIGN HOLES
IN UPPER AND LOWER MOUNTING BRACKET (WELDED) ON TAIL LIGHT GUARD
WITH THOSE ON VEHICLE SIDE JAMB. AWHILE YIOLDING TAIL LIGHT GUARD
ALIGN SUPPORT BRACKET (SEE DIAGRAMy ATTACH SUPPORT BRACKET TO
INNER LENSE STUB TO SNAP INTO PLACGE:

(3) RE-INSERT TAIL LIGHT LENSE INTO'\H@USING AND SNAPPING INTO PLACE
SECURE TAIL LIGHT LENSE AND TAILLIGHT GUARD ASSEMBLY TO JAMB USING
M5 — 1.0X30mm SCREWS AND #6 X 2" SCREWS

(4) REPEAT STEPS 1 THOUGH\3 OMN OPPOSITE SIDE.

Page 1 of 1



